— g4 ' '
Eczol : TuTorisar 5 ((Mszfgm%“L

for e '7Lmh,<:'£7t?4, 458 ume Taat
[lalox = Q""/"‘A/VL V= IV

/‘4};4:& z S'D/MA/\/L VTP: |V
The W/,_ Is w\o-wlze_at beside eacln device.
Y ONE )\I, = 0, Unless  oTher wise  meshod

w blewn |
i mgk oV
Ipuh 50K Dok
[ P
A
| 1 Vom= 6V
L 2 Ul s o guasld Signek
(I') De'tLe-fmi'\e ‘e 7/wescau‘£’ Vol""?\'{ oh
A & B.

(1) Determine e Jnrenental VulJv-q o A 23

M) Over what fw?e_ Coun Ve Vary, while
shl| k;q)imj, oll devices |'m Sonlu-m.#M?



(V) With Veu= 6V, iF ¢ desied 4o increne
e incre_w\eﬂu &&'4 LZ t:«(,re_a&‘,g, The. \/a./v\.e,
Jb e [+ od. ves S torg. WL\‘JL ¥ 71\"\3 WAGK A U~
Volne 4 Tre gain Tl o b+ainable 2

Pyy blem E :
| 10V
L [?I Y
] SRS

De,']'b/\m?r\(, Hue %})Ccz“ vahos X &7’ ¢ Fat
Co) The lt/w'e_;ceﬂ-l- ?o-ﬁe.«\*"als of AAR ave Tue

Soame. ™ n Pm“M 1

(b)) The [neromesmd aAJV\ Ty 7LL\C Same cb in
F”“M 1 (assuming A deviiy ane Ms,tw-\-)m)



(&) What ¢ e  owimon wnode \/a-vye_ 7

oV

« ¢ Ui
17D A
A hooB
Voo, + B Vi, = V4
-+ b
A4

1y
__)I 2

Determine ’h.\e_ «4}):(,{' Va.-}w'n X; So ﬂLL\th'
the incve mendal 'ub}w'-taje, between B XA s
4V, . What 15 e cz,u':escaxi' vo Hege af
A2

Dvoblewm i:

Refaﬂ' /wvélemg f e Joad olevices
WNere PMops —7Lra,v\;isv‘ws o3 Showsm 4&[0«5.



Va.,,-!—'b“o\

Yo & V0 ove Swall sg,fw/s. UVI)Z fov Toe

tuwl curvent Source, use p=p.ly” N?/uk

>\ ko -ﬁw\oL '7(1\-& ﬂV\M'CKKQn'é' oj)e,\/&—}(}mz, ?0|'|,\£'--
(=) Determine The ‘l,w'escamlf /bov’w-}m'als otk A2B.
(6) Dedermine Fhe nivemental Voliagey of A4B.



(r) What s o owimm -mode ij'e_c—l't'm v‘cvl'l'oz
C‘Q Wha (s fue lommwon- mude "Mﬁe?

PY’DHW b | oV
¢ T 45%
5bk V ok U4 ‘ Ve -04 Sok

!
\Fl x["l I’%x HaN

(o) ASS‘*M""\-J ol devices ave ja SaTurathm,
determine X $o +hal e ﬁ/w’eszuf‘ Vo [Fase
nt A& B g SV

(6) Fr the valwe 4 X you :/usi" Ae—/e,rm'nw')
Pad the ‘/a.vxj&_ 4’5, \/M OVey Which adl
dev:'cu Yot (n S shnvabom.

() Fov Vv = 3V, de termine fue Yenje over



(A‘/\-I'O['\. VCW\ Can \/W-/j I,\)Ll;lf. l(e_efl'vx; o]
devicyg  (n Cotuvohivm .
(X) L\“‘mlf s ’h,\e_ L'w\cre_w\e,n-lai 5&'%
Vsa 2y 2

?nuw :Jz'):

oV

Vouy = SV
(1) Determine e  intrementsl goun L
t'mfw{' +v Dw+7>W‘l'1
() OVer what vorse O Vown 1S This
fain maintained 2



oV
¢ {t
\/W-J-'Ul', ?} ] V(,.M_"Lob‘
15D A 4 £
/“ Ot

Ap= 0 Ays 0V ey =5V

(D Dc+a/miwe ")('M. iuweMmM Dwf‘fmi’ Vo)‘)"ase
(M The  Crewit above.

(W va, Yo]:‘e..\l’ Thwe abwe_ exere fe 7‘27:-’ 7"«

Ciroab Shown lae,law .



A%

—
.L
QQ

Vw“’i . V‘m v

Ap = O A= 00T Ve, =5V

?rv\o\fm 9

Chown loe,favo is fhe Civemit o(n'o?rm % an
Opoawmp-
[*7F

(o) Fud wivda db— Ane ‘fww\im[s 4,13 s The

V\Minvem’ivj ;'nfq‘,’r

(W IE is desived frat when all fne devices are
{:/\ S‘x)tu\/aﬂ(’lM‘ ‘fke_ akw'e.scau;{’ 730461447'415 a.+7l71€.
dvaing (b' e L'V\Pwt’ devices are e%ab ‘]'L_—-\ol. X



(f7 T[»\e. Ou,tL/JM[’ AZ. Tie o/)a.m/) Should be able
1150 Sk yn -[MA F.gr—ﬁ\e/) 'ﬁle, Du.‘bt/>M.£—
ﬂ%f;-fﬂnce SL\mloQ ld& S_D'DD_' De+CVM|'ne_

Y& 2 fr s b L\QF]:M-

(O{> -TL\Q b/’bd«z\]: aJowe LS Am/(el u}a a A
Mmuy Zo.,'n. bwﬁ#u/ a8 Shown loe. [0 w .

\/o\,\-l- 'wt;

Ve : 5V

——

DC—"LC-VW\{AG_ +‘«€ [vxcrememLti %M 4nﬂL
OMPIDM’ l'W}Peo(&ch aB— “Fue butffey.



F—l‘f\o« ’h\e NG| by UWA (:V\})M-f_ &w\f In-vL«O{E.
Hal” Ye_suH; ;AQ_’(.I$7L|,~/7L?,M —Pve.é_ ou‘%buf,’.
/2‘,71,&@L whew e budfe, s loaded aith

load vesistws Sk and  Zwp Nl
WL\:,\_'I' Ao YDIA nyhte .2



